
M24 STUD I/N 298745, 
C/W LARGE FLAT 
WASHER, SPRING 

WASHER AND NUT 

M24x50 BOLT C/W NUT, 
2 x LARGE FLAT 

WASHERS, SPRING 
WASHER AND EYE 

NUT (18kN) 

UNIVERSAL POLE . 
.____ B POLE USED IN 

THIS EXAMPLE 

T 
A 

M24x210 GAL VANIS ED 
THREADED ROD C/W NUT, T 
2 SQUARE FLAT 
WASHERS, SPRING WASHER, B 
AND EYE NUT 

HV TERMINATION 
CROSSARM 

PLAN SECTION WITH HV TERMINATION CROSSARM 

I 
11 

I 
11 

SECTION A 

VERTICAL LINE POST INSULATOR 
22kV, ITEM No. 300467 
REFER DRG No. S01-01-03-10 
FOR END PHASE TERMINATIONS, 

---- USE HV SHACKLE STRAPS, 
REFER DRG No S01-01-04-37 
INSULATOR M24 STUD ITEM 
No. 298745 C/W LARGE FLAT 
WASHER, SPRING WASHER 
AND NUT 

FOR CENTRE PHASE TERMINATION 
USE M24 EYE NUT (18kN), 
M24 GALVANISED 
THREADED ROD 210 LONG, 
2 x LARGE FLAT WASHERS, 
SPRING WASHER AND NUT 

26 DIA DRILLED 
BRACE ON POLE 

PLAN SECTION 

I 
I 
I 
I 0I 
I 
I 
I 
I 

SECTION B 

I 
I 
I 
I 
I 
I 
I 
I 
I 

11 

11 
11 
11 
11 

WITH HV TERMINATION CROSSARM 
DETAIL SHOWING TYPICAL ARRANGEMENT DETAIL SHOWING TYPICAL ARRANGEMENT 

OF EYE NUT FOR TERMINATION ON WEAK SIDE OF POLE OF EYE NUT FOR TERMINATION ON STRONG OF POLE 

4 REF OR MATTED TEXT. ADDED NOTE 2 &- EYE NUT DETAIL. 
ADDED 'ITEM' PREFIX TO ITEM LABELS. CHANGED TITLE 

3 UPDATED INS ULA TOR ITEM NUMBER. 
2 DRAWING FORMATTED. 

AN AUG'21 UC BV fJ. 
cc MAY'21 BV BC PowerWaterHE DEC'20 HE BV 

1 STUD STOCK CODE AND DRAWING REFERENCE ADDED A.S. MAR'02 MB FR R 
0 ISSUED FOR CONSTRUCTION AS MAR'01 M.B. FR R NORTHERN TERRITORY 

NO DESCRIPTION ORN DATE CKD APPD 
AMENDMENTS 

DES 
ORN 
CKD 
APPD 

UNIVERSAL POLE. B POLE 
USED IN THIS EXAMPLE 

ITEM M24 SQUARE FLAT WASHER 
MA TE RIAL 5 PL GALVANISED 

REFER TO S01-01-04-43 

M24 EYE NUT 18kN ITEM No. 298828 

M24 
THREAD 

' 

L~~" 
1~ M24 

BOLT 
ITEM EYE NUT FOR TERMINATION (18kN) 

MAX LOAD F11800kg SECTION THROUGH EYE NUT 
ITEM No. 298711 (WITH M24 BOLT) 

NOMINAL 49mm ID 
(SIMILAR TO TYPE 'BEAVER M24 EYE NUT') 

-

---- --- ] 

M24x 50 BOLT 
2 x M24 SQUARE FLAT 
WASHERS, SPRING 
WASHER AND EYE NUT 

ITEM IN SUL ATOR LINE HARDWARE STUD 
SCALE 1 • 2 

ITEM NUMBER 298745 
REFER TO S01-01-04-44 

M,BOCK 
R,INNES 
M, BOCK 

F. ROBSON 

NOTES 
C/W M24 SPRING, FLAT WASHERS &- NUT 

1. 

2 

LENGTH OF BOLT IS DESIGNED TO HAVE FULL THREAD CONT ACT 
WITH EYE NUT, WITHOUT PROTRUSION INTO EYE 

REFER TO S01-01-04-43 FOR BOLTS, NUTS, WASHERS AND 
THREADED RODS 

POWER STANDARD DRAWING 

LINE HARDWARE 
EYE NUTS FOR TERMINATION 

SCALE JULY'OO TYPICAL TERMINATION DETAILS 

ISSUED 1:5 A3 DRAWING S01-01-04-41ALL DIM. IN nm NUMBER 
DRAFTING STANDARD TO A.S.11DD CAO PRODUCT - 00 NOT AMEND MANUALLY 

&_____...________________A~ 

https://www.powerwater.com.au/standard-drawings/S01-01-03-10
https://www.powerwater.com.au/standard-drawings/S01-01-04-37
https://www.powerwater.com.au/standard-drawings/S01-01-04-43
https://www.powerwater.com.au/standard-drawings/S01-01-04-44
https://www.powerwater.com.au/standard-drawings/S01-01-04-43
https://www.powerwater.com.au/standard-drawings/S01-01-04-41
https://www.powerwater.com.au/standard-drawings/S01-01-04-41
https://www.powerwater.com.au

